AKEE No.3 T4-om4,

g M KA

BIRE | 4504 r+—-XTtAhAya%E-T, 0059 X THOEEMEY LIV,

0= 4-b4+4—4

I= (4+4) + (4+4)

2= 4-4+4+4

3= (444+4) =4

4= (4-4) X4+4

flBE2 4204 r+—-XTrAhya%E->T.

12= 4X (4—-4+4)

|l 6= 4+4+4+4

20= (4+4+4) X4

FRE3 42904 ¢+—-X+rAYv2%E T 10, 11,13, 14,18, | TOEEEYRIV,

5= (4X&4+4) +4

6= (4+4) ~4+4

7= 4+4— (4+4)

8= 4X4+-4+4

9= 4+4+ (4+4)

12, 15, 16, 17, 20DFH%=EYRIWV,

I15= 4X4-4+4

1 7= 4X4+4-+4

EXk 10, 11, |38Va=2(F5R), 44 EEALET.

|4,|8mﬂ=4$5m)|qm4!=|x2x3x4=z4iﬁwivo

10= (44—4) +4

| 3= 44+4+4

| 8= 4X4+4—4

| 1 =44+ (VAX+3)

|l 4=4+4+4+4



